Chapter 23: Project Cost Management (Estimating Costs) (FPM2ed p.288)
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The following questions have been designed to test your knowledge of the chapter and prompt discussion. Please note that each question could have one or more correct answers.

23.1: Which two of the following correctly define Project Cost Management? (FPM2ed p.288)
a. The knowledge area that includes the processes and activities to enable the project manager to complete the project within budget.

b. Allocating the project budget, which is the amount of money the project manager has been allocated to complete the project. 

c. The return on investment ensures that the project makes a profit.
d. The sourcing of funds to pay for the project.

23.1 Answer: A and B are correct. Project cost management is the project management process required to complete the project within the allocated budget. C is incorrect as the project finance is a method used by the project sponsor to raise funds. D is incorrect as this is the definition of project finance not project cost management. 
23.2: Which two of the following relate to the Estimating Continuum? (FPM2ed p.290)

a. The estimating continuum shows that the level of accuracy of the estimate is related to the cost to produce the estimate.
b. As the level of the estimate’s accuracy increases so the cost to produce the estimate reduces.

c. The highest level of estimating is called costing where every item is costed.

d. The estimating continuum can only be set up when using a matrix organization structure.

23.2 Answer: A and C are correct. There is an obvious link between the amount of work to produce a more accurate estimate and the cost to produce the estimate. B is incorrect as the cost to produce a more accurate estimate would typically be more expensive. D is incorrect as the estimating continuum is not related to the matrix organization structure.

23.3: Which two of the following relate to Top-Down and Bottom-Up Estimating?

a. Top-down estimating, estimates the cost at the project level.

b. Top-down estimating, estimates the cost to manage the project.
c. Bottom-up costing is used to buy work.

d. Bottom-up estimating, estimates the cost at the work package level.
23.3 Answer: A and D are correct. B and C are incorrect.

23.4: Which two of the following relate to Direct Project Costs? (FPM2ed p.292)
a. Direct project costs include running the company’s head office.

b. Direct project costs include running the project office.

c. Direct project costs include resources that work on the project.

d. Direct project costs include resources working on maintaining the company’s equipment.

23.4 Answer: B and C are correct. The project office and project resources are direct costs to the project. A is incorrect as the company’s head office should be an overhead cost. D is incorrect as the resources working on maintaining the company’s equipment should be an overhead cost.

23.5: Which two of the following relate to Indirect Project Costs? (FPM2ed p.292)
a. Indirect project costs include project management costs that cannot be attributed to any particular part of a project, work package or activity.
b. Indirect project costs include labour costs to run the project office.

c. Indirect project costs include costs from a sub-contractor working on a key activity.
d. Indirect project costs include maintenance costs that cannot be attributed to any particular project.
23.5 Answer: A and D are correct. Indirect project costs are costs that are incurred by the company in the process of making the project, but cannot be attributed to any particular part of a project, work package or activity. B is incorrect as running the project office is a direct project cost. C is incorrect as a subcontractor working on an activity is a direct cost.
23.6: Which two of the following relate to the Labour Rate? (FPM2ed p.294)

a. The labour rate is the amount the workforce is paid.

b. The labour rate makes a contribution to the CEO’s company car and luxury offices.

c. The labour rate includes all the associated costs; salary, supervision, holidays, training and profit.

d. The labour rate includes the cost of materials.

23.6 Answer: B and C are correct. If the labour rate is a company’s only source of income, then it must include a contribution to cover all the company’s expenses. A is incorrect as the workers’ salary is only part of the labour rate. D is incorrect as the labour rate does not include the cost of materials as these are covered in the procurement costs.

23.7: Which two of the following relate to Material Costs? (FPM2ed p.295)
a. Material costs include the resource costs.

b. Material costs include a contribution to the cost of the tendering process.

c. Material costs include the operational cost of using the materials after the project has finished.

d. Material costs include the material costs.

23.7 Answer: B and D are correct. The tendering costs need to be funded by an internal mark-up or margin – adding a margin to the material costs is typical. A is incorrect as resource costs are a direct labour cost. C is incorrect as the operational costs occur after the project is finished.

23.8: Which three of the following relate to Unit Rates? (FPM2ed p.296)
a. Unit rates include the cost per linear metre of welding.

b. Unit rates include the cost per square metre of painting a surface.

c. Unit rates include the cost per cubic metre of concrete.

d. Unit rates include the cost per metre of procurement documentation.

23.8 Answer: A, B and C are correct. There are many items of work that can be estimated using unit rates. This makes the estimating easier and passes the risk to the contractor who ultimately has more control over the work. D is incorrect as it does not make sense to relate the unit cost to procurement documentation.  

23.9 Which two of the following relate to Project Finance? (FPM2ed p.300) 

a. Project finance raises funds to invest in the project.
b. Project finance completes the project within budget.
c. Project finance estimates the cost to build the project.
d. Project finance calculates the return on investment.
23.9 Answer: A and D are correct. Project finance is concerned with raising capital, investment in the project and return from the operation of the project. B and C are incorrect as project finance is not concerned with the project estimate or budget.

23.10 Which one of the following refers to Non-Recourse Finance? (FPM2ed p.300)

a. Non-recourse finance is secured by the assets of the project.

b. Non-recourse finance is secured by the assets of the borrowing company.
c. Non-recourse finance is secured by the CEO’s assets.
d. Non-recourse finance is secured by the main contractor’s assets.
23.10 Answer: A is correct. A non-recourse loan implies that the lender only has recourse to the assets of the project, not the assets of the borrowers. B, C and D are incorrect.
